# Exhibit 1

## Nelson Mullins

#### Nelson Mullins Riley & Scarborough LLP

Attorneys and Counselors at Law Tax ID No. 57-0215445

Post Office Box 11070 / Columbia, South Carolina 29211

Tel: 803.799.2000

Cleveland Golf ATTN: Stephen Gingrich 5601 Skylab Road Huntington Beach, CA 92647

August 10, 2009 Invoice 948934 Page 1

Our Matter # Name of Matter:

34230/01504

Cleveland Golf v. copycatclubs.com

For Services Through 07/31/09

07/09/09

Total Son, J. Mountains and Amoraby Parentain regarding same

07/09/09 Telephone conference with Attorney Finnerty and Attorney Nickerson concerning Copy Cat

Clubs Website; review and analyze <www.copycatclubs.com> website and WHOIS

information; research ability to file lis pendens or other form of attachment.

J.C. MCELWAINE

1.10 hrs.

07/09/09 Review information on potential defendant Shelley and assess need for asset and property

search.

J.S. PATTERSON

0.30 hrs.

07/09/09 Compose memo regarding litigation strategy, meet with Attorney Finnerty regarding same,

draft complaint.

M.T. NICKERSON

4.10 hrs.

07/10/09 Draft complaint.

M.T. NICKERSON

1.50 hrs.

07/13/09 Draft complaint.

M.T. NICKERSON

1.00 hrs.

07/14/09 Draft complaint.

M.T. NICKERSON

1.40 hrs.

07/15/09 Draft Complaint, compose email to Attorney McElwaine regarding insertion of South Carolina

common law claims.

M.T. NICKERSON

0.50 hrs.

07/16/09 Review and analyze complaint; draft and incorporate revisions to complaint.

J.C. MCELWAINE

5.10 hrs.

07/20/09 Review and revise litigation hold letter for email accounts.

J.S. PATTERSON

0.30 hrs.

07/20/09

Confer with Attorney Finnerty regarding strategy to preserve relevant information from hotmail and gmail; draft litigation hold letters to Google and MSN regarding preservation of evidence, confer with Attorney Patterson regarding same. M.T. NICKERSON 2.80 hrs.



07/27/09

Exchange emails with investigator regarding asset search for target defendants. J.S. PATTERSON

0.60 hrs.

07/28/09

Review information on asset search and property results for target defendants. J.S. PATTERSON

0.40 hrs.

Fees for Legal Services......

\$7,750.00

BI	LLING	3 SUM	MARY

100	<u>Hours</u>	Rate/Hr	Dollars
C.S. FINNERTY	3.10	400.00	1,240.00
J.C. MCELWAIN	6.20	400.00	2,480.00
J.S. PATTERSON	1.60	400.00	640.00
M.T. NICKERSON	11.30	300.00	3,390.00
TOTAL	22.20	349.10	7,750.00

Advance payments applied  Net current billing for this invoice	\$(7,750.00) \$0.00
ND TOTAL	<u>\$0.00</u>

#### REMITTANCE COPY

Please Return With Your Payment To:

ATTN: Accounts Receivable
Neison Mullins Riley & Scarborough LLP

Post Office Drawer 11009 Columbia, South Carolina 29211 Telephone (803) 799-2000

Cleveland Golf ATTN: Stephen Gingrich 5601 Skylab Road Huntington Beach, CA 92647

Our Matter#

Name of Matter:

34230/01504

Cleveland Golf v. copycatclubs.com

For Services Through 07/31/09

Fees for Professional Services
Charges for Other Services Provided/Expenses Incurred

\$7,750.00 \$0.00

Less Advance Payments Applied

\$(7,750.00)

Net current billing for this involce.....

\$0.00

RAND TOTAL

\$0.00

rems of Payment: Balance due within thirty days of invoice date

......

#### **DOMESTIC WIRING INSTRUCTIONS**

Receiving Bank: Columbus Bank & Trust (CB&T)

ABA Number: 061100606

Beneficiary Customer: Nelson Mullins Riley & Scarborough, LLP Operating Account

Beneficiary Account Number: 00322407701

#### **FOREIGN WIRING INSTRUCTIONS**

Beneficiary Bank: National Bank of SC, PO Box 1798, Sumter SC 29151-1798

ABA Number: 053200666

Beneficiary Customer: Nelson Mullins Riley & Scarborough, LLP Operating Account

Beneficiary Account Number: 00322407701

### **ACH WIRING INSTRUCTIONS**

Beneficiary Bank: National Bank of SC, PO Box 1798, Sumter SC 29151-1798

**ABA Number**: 053200666

Beneficiary Customer: Nelson Mullins Riley & Scarborough, LLP Operating Account

Beneficiary Account Number: 00322407701

Wire Reference Field: Note the NMRS Invoice and Matter Number.